1. Multipliziere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	3
	∙
	1
	4
	=
	
	
	
	
	
	b)
	
	2
	∙
	6
	2
	=
	
	
	
	
	c)
	
	7
	∙
	6
	9
	=
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	5
	∙
	7
	1
	=
	
	
	
	
	
	
	
	8
	∙
	2
	6
	=
	
	
	
	
	
	
	9
	∙
	7
	8
	=
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	4
	∙
	3
	5
	=
	
	
	
	
	
	
	
	6
	∙
	4
	3
	=
	
	
	
	
	
	
	8
	∙
	5
	3
	=
	
	
	
	
	



	Selbstkontrolle: 42, 124, 140, 208, 258, 355, 424, 425, 483, 702



2. Dividiere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	
	4
	8
	:
	4
	=
	
	
	
	
	b)
	
	9
	6
	:
	4
	=
	
	
	
	
	c)
	
	2
	7
	6
	:
	6
	=
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	1
	2
	6
	:
	6
	=
	
	
	
	
	
	1
	0
	8
	:
	9
	=
	
	
	
	
	
	
	1
	2
	0
	:
	8
	=
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	5
	0
	5
	:
	5
	=
	
	
	
	
	
	
	9
	8
	:
	7
	=
	
	
	
	
	
	
	6
	0
	9
	:
	7
	=
	
	
	
	



	Selbstkontrolle: 12, 12, 14, 15, 21, 24, 46, 77, 87, 101


1. Multipliziere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	3
	∙
	1
	4
	=
	
	4
	2
	
	
	b)
	
	2
	∙
	6
	2
	=
	1
	2
	4
	
	c)
	
	7
	∙
	6
	9
	=
	4
	8
	3
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	5
	∙
	7
	1
	=
	3
	5
	5
	
	
	
	
	8
	∙
	2
	6
	=
	2
	0
	8
	
	
	
	9
	∙
	7
	8
	=
	7
	0
	2
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	4
	∙
	3
	5
	=
	1
	4
	0
	
	
	
	
	6
	∙
	4
	3
	=
	2
	5
	8
	
	
	
	8
	∙
	5
	3
	=
	4
	2
	4
	
	



	Selbstkontrolle: 42, 124, 140, 208, 258, 355, 424, 425, 483, 702



2. Dividiere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	
	4
	8
	:
	4
	=
	
	1
	2
	
	b)
	
	9
	6
	:
	4
	=
	2
	4
	
	
	c)
	
	2
	7
	6
	:
	6
	=
	4
	6
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	1
	2
	6
	:
	6
	=
	
	2
	1
	
	
	1
	0
	8
	:
	9
	=
	1
	2
	
	
	
	
	1
	2
	0
	:
	8
	=
	1
	5
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	5
	0
	5
	:
	5
	=
	1
	0
	1
	
	
	
	9
	8
	:
	7
	=
	1
	4
	
	
	
	
	6
	0
	9
	:
	7
	=
	8
	7
	
	



	Selbstkontrolle: 12, 12, 14, 15, 21, 24, 46, 77, 87, 101


3. Multipliziere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	2
	∙
	4
	7
	=
	
	
	
	
	
	b)
	
	4
	∙
	7
	4
	=
	
	
	
	
	c)
	
	8
	∙
	8
	2
	=
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	6
	∙
	3
	3
	=
	
	
	
	
	
	
	
	9
	∙
	6
	9
	=
	
	
	
	
	
	
	7
	∙
	7
	3
	=
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	3
	∙
	5
	6
	=
	
	
	
	
	
	
	
	5
	∙
	6
	1
	=
	
	
	
	
	
	
	3
	∙
	6
	8
	=
	
	
	
	
	



	Selbstkontrolle: 94, 168, 198, 204, 214, 296, 305, 511, 621, 656



4. Dividiere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	2
	0
	4
	:
	2
	=
	
	
	
	
	b)
	
	
	8
	5
	:
	5
	=
	
	
	
	
	c)
	
	3
	8
	4
	:
	4
	=
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	3
	5
	2
	:
	8
	=
	
	
	
	
	
	
	1
	9
	5
	:
	3
	=
	
	
	
	
	
	
	5
	1
	2
	:
	8
	=
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	4
	3
	6
	:
	4
	=
	
	
	
	
	
	
	5
	7
	6
	:
	6
	=
	
	
	
	
	
	
	5
	2
	5
	:
	7
	=
	
	
	



	Selbstkontrolle: 17, 44, 64, 65, 75, 85, 96, 96, 102, 109


3. Multipliziere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	2
	∙
	4
	7
	=
	
	9
	4
	
	
	b)
	
	4
	∙
	7
	4
	=
	2
	9
	6
	
	c)
	
	8
	∙
	8
	2
	=
	6
	5
	6
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	6
	∙
	3
	3
	=
	1
	9
	8
	
	
	
	
	9
	∙
	6
	9
	=
	6
	2
	1
	
	
	
	7
	∙
	7
	3
	=
	5
	1
	1
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	3
	∙
	5
	6
	=
	1
	6
	8
	
	
	
	
	5
	∙
	6
	1
	=
	3
	0
	5
	
	
	
	3
	∙
	6
	8
	=
	2
	0
	4
	
	



	Selbstkontrolle: 94, 168, 198, 204, 214, 296, 305, 511, 621, 656



4. Dividiere halbschriftlich. Rechne also in Schritten. Nutze die Selbstkontrolle.

	a) 
	
	2
	0
	4
	:
	2
	=
	1
	0
	2
	
	b)
	
	
	8
	5
	:
	5
	=
	1
	7
	
	
	c)
	
	3
	8
	4
	:
	4
	=
	9
	6
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	3
	5
	2
	:
	8
	=
	
	4
	4
	
	
	
	1
	9
	5
	:
	3
	=
	6
	5
	
	
	
	
	5
	1
	2
	:
	8
	=
	6
	4
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	4
	3
	6
	:
	4
	=
	1
	0
	9
	
	
	
	5
	7
	6
	:
	6
	=
	9
	6
	
	
	
	
	5
	2
	5
	:
	7
	=
	7
	5
	



	Selbstkontrolle: 17, 44, 64, 65, 75, 85, 96, 96, 102, 109



